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norm1 norm 2 norm3
W EC (msicm) <05 05-11-15
& [Na], [CI] (mmoiny <1.5 15-33-5

Norm3:2 3 » & % & 4§

Norm2:B 3 i s> @ 2

Norm1:& 2 ¥ %

48 £ -k (<40umol/L=2.232 ppm) D34 & iF 57

[Na]-~ iyt o

*23:ppm
T ¥ Fp EC Na cl
' mS/cm___mmol/l mmol/l
W% <0.1 <0.1 <0.1
P 4 0.2 05(>5) 0.5(>5)
B R 0.1 0.3 0.3
i <0.1 0.05 0.05
Frefs R 0.48 1.25 1.1
A P e 0.65 1.8 1.6
P B [ 0.8 6 6

E 2 ﬁﬁil >>2 >> 10 >>10
N 0.8 0.5 0.4

(Voogt & van Os, 2010)
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e (4Sm PR () | ® | &) | (Ca) | (Me) | (Zn) |(Cu) | (Fe) |(Mn)
(ppm) () (ppm)|(ppm)| (ppm) | (ppm) {(ppm){ppm }{ ppm N ppm)

rE:: 036 7.96 0904 0,013 233 | 321 | 122 | ND | ND | 0.05|0.01

g:.’ 079 7.24 0,550 0.010| 1.12 | 103.0 | 294  ND | ND | 0.04 0.11
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=2 SYRin % Threshold value
(EC)
EE T 25-7 25
‘F" S 55-6.0 25
ﬁ’:"f*’ﬁ’ 7.6 2.8
N 9.8 15
L 5.3 2.1
7 21 11

RS

Tanks: <2000 m?3

Otherwise: 2 #
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1500 % /2F » il ¥
8596 t-:

& -9 =3 =3 gy 33 A S8 Ad {9 Ly Ly 1= za

A 621 434 589 41 483 675 658 614 821 851 89 749 7795
EN

44 832 1703 1804 177.8 2345 3259 2451 3221 360.5 1489 831 733 2405.1
AfE 3316 3970 3210 2420 2851 3016 1484 210.1 4235 4003 399.6 3118 3772

| 175 507 595 883 1183 1539 1577 1810 1127 284 212 242 10134
48 173 281 385 795 1736 3715 3577 3951 1780 278 167 144 16982
#2160 205 388 698 1974 4153 3909 4167 2419 427 187 162 18849
£5 236 574 634 1030 1762 3140 3699 3802 2226 275 152 213 17743
49 303 898 1030 1454 2315 3312 3079 3020 1645 232 183 259 1773

®2 .4 717 1373 1665 2542 4936 649.6 668.3 8093 4329 1467 463 559 39323
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Fertiliser NH, K Ca Mg NO S0,
pe 10 95 55 25 16 45 15
i 1.0 20
To add 10 95 45 25 14 45 15
KH,PO, 15 15
Ca(NOy), 45 9
NH,NO, 10 1.0
KNO, 40 40
Mgso, 25 25
K,S0, 40 20

|

gz in mmol/L = kg/L

I pliE %

+ % 100x % /% & A& in A and B container, but:
EF2R AR AITRK REEFITER

In A: Ca, Fe

InB: SO, PO,

Other fertilizers can be used

Fertiliser

KH,PO,
Ca(NO,),
NH,NO,
KNO,
MgsO,

K,SO,

&
NH, K |ca Mg  NO, SO, H,PO,
10 65 275 10 |1075 15 125
1.25 1.25
0.55 2.75 6.05
0.45 0.45
425 4.25
1.0 1.0
10 05
D[fEi s 1 + 6.5 + 2*(2.75+1.0) = 15

DEEE

10.75 + 2*1.5 + 1.25

=15

-0.125

-0.625

-0.125

-0.125

-0.25

-0.125

CA £ % (Erik) | CA & % (BriktK) Dr.%#%
mg/L mg/L mg/L
N:K=1:1.56 N:K=1:2.5 N:K=1:5~7
A § 224.0 224 60-30
B 46.5 46.5 30
Fr 1443 144.3 -
i F 14.0 14 30-60
4 3715 595 450-600
4 220.4 220.4 240-300
4% 60.8 60.8 30
ppb ppb ppb
£ 837.8 837.8 4000 ~ 10000
fr3 549.4 549.4 1500
& 261.5 261.5 330
b 216.2 216.2 320
4 49.2 49.2 50
i 480 48 o




Do g 12 £ ]

vy 100L% S0 | IR g

A Erik(e) [ErikiK(e)|Eiik |Bik:K
KNO3 s 1900 | 1900 | 121 | 1
Ca(NO3)2 25 | 550 | 5250 | 262 | 262
Bl i T| 1025 | 1025 | 145 | 145
NHANO3 25 40 | 40 22 | 22
K2504 2| 1850 | 435 | 81 | 190
MsSO4 289 | 3085 | 3085 | 178 178
EDTAFeNa | 250 | 316 | 316 | L6 | 160
H3BO3 55| 619 | 619 | 007 | 007
CuSO45H20 | 40 | 057 | 097 | 0.008 | 0008
MnSOA4H20 | 40 | 117 | 1.7 | 009 | 009
ZuSOLTH20 | 40 | 575 | 575 | 005 | 005
(NHAOMOTO24.4H20| 40 | 045 | 045 | 0.004 | 0:004

/’i)%)* (A + B)

Injection system withA/B stock tanks

2999, o2

1. Drain container

2. Water from well 5. Sand filter
3. System pump 6. Fine filter

4. Metering pump 7. Flow sensor

%4”“%’* (/’iiﬁ’ﬂ"ii)

Ca(NO;)z” NH,l N03||KH2N03 || MgSO, || K2504 KNO3

%@%@T% q@@@@;@

6. Stock tanks
7. retarder mixer

micro
nutrients

1. drain container
2. water from basin
3. system pump

4. metering pump
5. flow sensor

8. sand filter
9. fine filter

R E R kR

I3RS ’1’7{,”‘53 L1 -

i pk
1-~25%/~




lfﬁ’k > 56.1 L/F/H

ny

b +* +a
— 8 = R o
il 2i¢4 112 L/

ny iV

RIBBAY

ORE R BERE

CF5 48 Tk A B SR

CEXb e 35 % > Ll %> Flugsand
-k +NFT»DFT

FTArH I RCARBTEQ

SRR 0 T ?

L1 Air = water = solid matter
CLg-KIER

Substrate #1 B it e
Solid matter 2 5 19
Air 4 3 69
Water 94 91 12

Kl 3

A K% A& 5-10 cmversus 4 3 >100-cm
R 4% 10-20 litre versus > 500 litre
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Pouzzolane

hauteur pression

égoutter -10 cm -32 cm -50 e¢m -100 cnresaturer

Référence tourbe  14H

AP

< 100

] 80
= 50
. “0
= 20
S S S 0
ég

hauteur pression

Wsuinte

|gea |

outter - I[l cm -32cm 50 cm - IDD crrresaturer

= z#;% iE: how to start?
EEES 8=
O FFEz
T 0.2-05%
RS SR
i 2 @ead
WokF o or g R
O EFH -~ AFand i
A gz iR
O
Bk

Crm3 3Ac 1 taeni 2
Ago ARG
Fo@#RZEr 8
b

O Rap 695018
# 1-(30~40%) » -k
% (50~60%) + pH
(5-7) °

E-O5 inairis20%
O, inwater 0.01% > A iz § £ i &

E-Lack of O, NO,, & 2,
TRRF Ak

Ok A RA
m-NFT, DFT = increase flow

eSS ¢

ﬁﬁ.
1 Planting on the plant hole
RLIAR A%

Et 2Rl
e

For# s 4 &
-1t truss visible
[-1-generative:#& & ¢EC »

A R4 EC
$KEC=3-4 i 2 £
EC-inpotis-higherthan-in-slab:

BAKK P RELL

g4 2 3islab




e, TR

-k in slab -
slope 0.2 — 0.5%

Hole made after planting

1-2 holes per slab
A B WEEH £1~2cm B
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